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Identify the center and radius of each, Then sketch the graph.
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Use the information provided to write the equation of each circle,
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hich appear to be
Find the measure of the arc or central angle indicated. Assume that lines W

diameters are actual diameters.
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Solve for x. Assume that lines which appear to be diameters are actual diameters.
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Find the measure of the arc or angle indicated.
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Find the length of the segment indicated. Round your answer to the nearest tenth if necessary.
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Determine if line AB is tangent to the circle.
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Find the perimeter of each polygon. Assume that lines which appear to be tangent are tangent.
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22. IMNOisa parallelogram. If

NM=x+6and OL=2x+3, find the valuc of x and then find NM and OL.
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23.  Find values of x and v for which ABCD must be a parallelogram, The diagram is not to
scale.

Yy =19 =x+1l Hy-7 =y +8

-X -X - -Y

Sx=14 =] -F =

3x=30 -
= 3 bk Ll
x =10 > 2
N=5

24. For what value of x will the quadrilateral be a parallelogram?
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